TN NN o

2-1
2-2
2-3

.14
.15



23%

2%

18%

12 12
59 57
706 395
2,558 1,143
3,323 1595
3000
= o 2558
2500
2000
% 8%
1500
S 1143
” 1000 206
500 305
22% 59 57




64

37

23%

11%

30%

53%

36%

62%

22%

56

27

19

10

19




1496

36

21%

8%

44%

20
16

15

19




vy

vy

<>




2-2

66

23

22%

21%

14%

52%

34%

54

38

22

18

N
—

48

38

15

17

26

23

12




1464

65

23

11%

12%

60%

19%

51%

37%

1™

74%

68

17

17

57

18

11

18

11

14




1452

66

14%

24%

5%

36%

54%

41%

26

24

21

10
1

30

11

10




v

DB

AA

<>

DB

A

A MM

DB

DB




1450

29 66
38% | 38%
‘ )

11 49
1 14
2 9
11 62
26
46
1 10
1 9




29%

66%

97%

24

W P P R




B

59

8%

12%

59

80%

1424

(S

21 106
1 8
3|:| 10
4
14
8
4

11




64

1395

11

16
15

12




<>

<>

13




2-4

° 1ISO9000s

L

L

o

L

o
e N
\ J
e N
\ J
- p
\ »

14




— -

S— =
|

(1)

@

®)

©)

15



